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1 Stamens and carples 
पुंकेसर और काप[ãस

2  Calyx and carpels 
 कैलेक्स और कापȶल

3 Calyx and corolla 
कैलेक्स और कोरोला

4 Corolla and stamens/
कोरोला और पुंकेसर

1. The reproductive parts of a flower are: 
एक फूल के प्रजनन अंग हैं?

      USE CODE- Y431 FOR 77% DISCOUNT [‘Science for Agniveer’] (Time -  5:45 pm)



1  17

2 6

3 7

4 20

2. An element with an atomic number of ______ will form a basic oxide. 
       ______कȧ परमाणु संÉया वाला त×व एक मूल ऑक्साइड बनाता है।

      USE CODE- Y431 FOR 77% DISCOUNT [‘Science for Agniveer’] (Time -  5:45 pm)



1 Medulla/ मेडुला

2 Spinal cord  / रीढ़ कȧ हɬडी

3 Pons/ पɉस

4 Hypothalamus/ हाइपोथैलेमस

3. Involuntary action in human beings such as blood pressure, salivation and vomiting are 
controlled by    the: 
मनुçय मɅ अनैिÍछक ͩĐया जैसे रक्तचाप,लार और उãटी _______ɮवारा Ǔनयंǒğत ͩकया जाता है: 

      USE CODE- Y431 FOR 77% DISCOUNT [‘Science for Agniveer’] (Time -  5:45 pm)



1  NO

2 N2O5

3 NO2

4 N20

             
4. Which one of the following oxides of Nitrogen is also known as Laughing Gas?
           नाइĚोजन के Ǔनàनͧलͨखत ऑक्साइडɉ मɅ से कौन सा एक लाͩफंग गैस के Ǿप मɅ भी जाना जाता है?

      USE CODE- Y431 FOR 77% DISCOUNT [‘Science for Agniveer’] (Time -  5:45 pm)



1  N

2 W

3 W-N

4 W+N

5. An element has an atomic weight of W and an atomic number of N. The number of protons in 
the nucleus of its atom is: 

एक त×व का परमाणु भार W और परमाणु Đमांक N होता है। इसके परमाणु के नाͧभक मɅ प्रोटॉनɉ कȧ संÉया है?

      USE CODE- Y431 FOR 77% DISCOUNT [‘Science for Agniveer’] (Time -  5:45 pm)



1  1/2 Ampere

2 1/4 Ampere

3  2 Ampere

4 1 Ampere

6. If two Coulomb of charge flows they cross-section of a conductor is one second, what will be the current 
flowing there ?
य�द दो कूलॉम आवेश प्रवा�हत होते हैं तो एक चालक का अनुप्रस्थ काट एक सेकंड का होता है, वहां प्रवा�हत होने वाली धारा क्या होगी? 

      USE CODE- Y431 FOR 77% DISCOUNT [‘Science for Agniveer’] (Time -  5:45 pm)



1  7.0 to 7.8

2 6.0 to 6.8

3 6.0 to 7.0

4 7.0 to 8.6

7. The human body works within the pH range of:
मानव शरीर, पीएच सीमा ……के भीतर काम करता है:

      USE CODE- Y431 FOR 77% DISCOUNT [‘Science for Agniveer’] (Time -  5:45 pm)



1  Microampere

2 Ampere

3 Volt

4 Milliampere

8. The SI unit of electric current is: 
ͪवɮयुत धारा का SI माğक है ?

      USE CODE- Y431 FOR 77% DISCOUNT [‘Science for Agniveer’] (Time -  5:45 pm)



1  Third

2 Ninth

3 Fourth

4 First

9. The tenth element in the Newland's periodic classification resembles the 
    Ûयूलैंड के आवͬधक वगȸकरण मɅ दसवां त×व ͩकससे ͧमलता-जुलता है? 

        USE CODE- Y431 FOR 77% DISCOUNT [‘Science for Agniveer’] (Time -  5:45 pm)



1    Gametes

2  Genes

3 Genetics

4 Germ cells

10. . ………are the carriers of heredity material.
………. आनुवंͧशकता सामĒी के वाहक हैं।

       USE CODE- Y431 FOR 77% DISCOUNT [‘Science for Agniveer’] (Time -  5:45 pm)



1    7:1

2  8:1

3  1:7

4 1:8

11. In a water molecule, the ratio of mass of Hydrogen to the mass of Oxygen is always : 
एक पानी के अणु मɅ हाइĜोजन के ġåयमान का ऑक्सीजन के ġåयमान से अनुपात हमेशा होता है?

       USE CODE- Y431 FOR 77% DISCOUNT [‘Science for Agniveer’] (Time -  5:45 pm)



1  Hexene

2  Hexane

3 Hexyne

4 Heptyne

12. The C4H14 respresents the hydrocarbon__
 C4H14 ______हाइĜोकाब[न का प्रǓतǓनͬध×व करता है

       USE CODE- Y431 FOR 77% DISCOUNT [‘Science for Agniveer’] (Time -  5:45 pm)



1 Solution with pH value 0

2 Solution with pH value 1

3 Solution with pH value 6

4 Solution with pH value 7

13. Which of the following solution is the most acidic among them all?
Ǔनàनͧलͨखत मɅ से कौन सा घोल सबसे अͬधक अàलीय है

       USE CODE- Y431 FOR 77% DISCOUNT [‘Science for Agniveer’] (Time -  5:45 pm)



1 100 J

2  0 J

3 98 J

4 980 J

14. Work done by a passenger standing on a platform holding a suitcase weighing 
10 kg is: 

एक Üलेटफॉम[ पर खड़ ेएक याğी ɮवारा 10 ͩकलो वजन का सूटकेस पकड़ ेहुए ͩकया गया काय[ है:

       USE CODE- Y431 FOR 77% DISCOUNT [‘Science for Agniveer’] (Time -  5:45 pm)



1 26

2 32

3 20

4  14

15. By how many atomic mass units do subsequent members of homologous series 
differ? 

समजात Įेणी के परवतȸ सदस्य ͩकतने परमाणु ġåयमान इकाइयɉ से ͧभÛन होते हैं?

       USE CODE- Y431 FOR 77% DISCOUNT [‘Science for Agniveer’] (Time -  5:45 pm)
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1  Binary fission

2  Asexual reproduction

3 Multiple fission

4 Sexual reproduction

16. Which type of reproduction allows for greater variation to be generated ? 
ͩकस प्रकार का प्रजनन अͬधक ͪवͪवधता उ×पÛन करने कȧ अनुमǓत देता है?

       USE CODE- Y431 FOR 77% DISCOUNT [‘Science for Agniveer’] (Time -  5:45 pm)



1   Gravitation/ गुǽ×वाकष[ण

2  Density /घन×व

3 Buoyant force /उ×Üलावक बल

4 Friction /घष[ण

17. What is the upward force exerted by water called? 
जल ɮवारा ऊपर कȧ ओर लगने वाले बल को क्या कहत ेहैं?

       USE CODE- Y431 FOR 77% DISCOUNT [‘Science for Agniveer’] (Time -  5:45 pm)



1 1 Sec

2 0.2 Sec

3 0.1 Sec

4 0.5 Sec

18. The sensation of sound persists in the human brain for about
ÚवǓन कȧ अनुभूǓत मानव मिस्तçक मɅ लगभग __ तक बनी रहती है

       USE CODE- Y431 FOR 77% DISCOUNT [‘Science for Agniveer’] (Time -  5:45 pm)



1    Style /शैली

2  Stigma

3 Ovary/अंडाशय

4  Stamen /पुंकेसर

19. ……is a part of the male reproductive system in plants. 
…… पौधɉ मɅ नर प्रजनन प्रणाली का एक �हस्सा है। 

       USE CODE- Y431 FOR 77% DISCOUNT [‘Science for Agniveer’] (Time -  5:45 pm)



1 Conductor /कंडक्टर

2 Insulator/ इÛसुलेटर

3 Resistor /प्रǓतरोधी

4
Semi-conductor 
सेमी कंडक्टर

20. A conductor having some appreciable resistance is called a:
कुछ प्रशंसनीय प्रǓतरोध वाले कंडक्टर को कहा जाता है?

      USE CODE- Y431 FOR 77% DISCOUNT [‘Science for Agniveer’] (Time -  5:45 pm)



1 Lead /लेड

2 Tin /�टन

3 Silver /चांदी

4 Zinc/ िजंक

21. Which of the following metals displaces Iron from Iron Chloride? 
Ǔनàनͧलͨखत मɅ से कौन सी धातु आयरन क्लोराइड से आयरन को ͪवस्थाͪपत करती है?

      USE CODE- Y431 FOR 77% DISCOUNT [‘Science for Agniveer’] (Time -  5:45 pm)



1  Agaricus/अगǐरकस

2  Cyanobacteria/साइनोबैक्टीǐरया

3 Mycoplasma  /माइकोÜलाÏमा

4 Paramoccium /पैरामोͧशयम

22. ……is a multicellular organism. 
……एक बहुकोͧशकȧय जीव है।

       USE CODE- Y431 FOR 77% DISCOUNT [‘Science for Agniveer’] (Time -  5:45 pm)



1  Treatment of cancer 
  कैं सर का उपचार

2
 Fuel in aeroplanes 
 हवाई जहाज मɅ Ƀधन

3  Treatment of goitre 

4 Fuel in nuclear reactors
परमाणु ǐरएक्टरɉ मɅ Ƀधन

23. Identify a use of the isotope of uranium.
यूरेǓनयम के समस्थाǓनक के उपयोग कȧ पहचान करɅ।

       USE CODE- Y431 FOR 77% DISCOUNT [‘Science for Agniveer’] (Time -  5:45 pm)



1
 Development of root with 
fertilization
  Ǔनषचेन के साथ जड़ का ͪवकास

2
 Development of fruit with fertilization
Ǔनषचेन के साथ फल का ͪवकास

3
Development of root without 
fertilization
Ǔनषचेन के ǒबना जड़ का ͪवकास

4
Development of fruit without 
fertilization
Ǔनषेचन के ǒबना फल का ͪवकास

24. Parthenocarpy is defined as:
पाथȶनोकापȸ को इस प्रकार पǐरभाͪषत ͩकया गया है?

       USE CODE- Y431 FOR 77% DISCOUNT [‘Science for Agniveer’] (Time -  5:45 pm)



1 

2 

3 

4  

25. The maximum number of electrons that can be accommodated in a shell 
depends on the formula. 
एक कोश मɅ अͬधकतम इलेक्Ěॉनɉ को समायोिजत ͩकया जा सकता है जो सूğ पर Ǔनभ[र करता है।

       USE CODE- Y431 FOR 77% DISCOUNT [‘Science for Agniveer’] (Time -  5:45 pm)



1 4

2   3

3 2

4 5

26. The number of valence electrons in an atom of Phosphorus is
फास्फोरस के एक परमाणु मɅ संयोजकता इलेक्Ěॉनɉ कȧ संÉया होती है

       USE CODE- Y431 FOR 77% DISCOUNT [‘Science for Agniveer’] (Time -  5:45 pm)



1 Watt

2  Joule

3 Newton

4 Pascal

27. A unit of power is called a :
शिक्त कȧ इकाई ……कहलाती है

       USE CODE- Y431 FOR 77% DISCOUNT [‘Science for Agniveer’] (Time -  5:45 pm)



1 Yamuna/यमुना

2 Kosi/कोसी

3 Gangotri/गंगोğी

4 Yamanotri/यमनोğी

28. Delhi is located on the banks of river.
�दãली __ नदी के ͩकनारे िस्थत है।

       USE CODE- Y431 FOR 77% DISCOUNT [‘Science for Agniveer’] (Time -  5:45 pm)



1 Real, inverted image of the 
same size at centre of 
curvature

2 Real, inverted, highly 
diminished image at focus

3 Real, inverted highly enlarged 
image at centre of curvature

4
Real, inverted, diminished image 
between centre of curvature and 
principal focus

29. In a concave mirror when the object is placed at infinity which of the following 
applies to the image? 
अवतल दप[ण मɅ जब वस्तु को अनंत पर रखा जाता है तो Ǔनàन मɅ से कौन सा प्रǓतǒबबं पर लागू होता है?

       USE CODE- Y431 FOR 77% DISCOUNT [‘Science for Agniveer’] (Time -  5:45 pm)



1 Fox /लोमड़ी

2 Tiger/ टाइगर

3 Dog/ कुƣा

4 Rabbit/ खरगोश

30. Which of the following animals has a comparatively longer intestine? 
Ǔनàनͧलͨखत मɅ से ͩकस जानवर कȧ आंत अपे¢ाकृत लंबी होती है?

       USE CODE- Y431 FOR 77% DISCOUNT [‘Science for Agniveer’] (Time -  5:45 pm)






